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Course in Semantics - Ling 531 / 731

McKenzie - University of Kansas

This workout has compositions with subject quantifiers. Given the structure, build the LF and the structure
for each clause.

1. Every cat purrs.
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2. All dogs are cute. (ignore the plural, and treat be cute as one word).
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3. Every dog barked.

4. A dog slept.



5. Some cats meowed. (ignore the plural marker)

6. No dog purrs.



7. No cats hibernated. (ignore the plural)

8. A dog bit Bill.

Bring this composition to class on Tuesday



